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307 lztol & 184,000 123,000 61,000
= 92,000
= 92,000
02 2IZHBYAIHE X 184,000 123,000 61,000
OHsHE 243 N&
184,000,000 *1IH 2 184,000
=S 92,000
s 92,000
a¥dE A= Es K& 59,400 54,000 5,400
307 212+0| & 59,400 54,000 5,400
2 BIIBAASRE 59,400 54,000 5,400
OBEE Fs
6,000,000 *11J+1+90/100 59,400
08 2EEAY S5 & 48 X2 9,450 10,800 A1,350
307 elzto| & 9,450 10,800 1,350
02 2B YAIHE £ 9,450 10,800 1,350
O1ng 2&=AIE X2
1,500,000 *72++90/100 9,450
Feel U-turn & X 21,600 27,000 A5,400
307 212+01& 21,600 27,000 25,400
02 LB HAHE L 21,600 27,000 25,400
Ogel g5 T2
6,000,000& *4J+-+90/100 21,600
s SA 4= NI 7,200 9,000 21,800
307 elztol & 7,200 9,000 21,800
02 2IZHBYAIHE & 7,200 9,000 1,800
Osil ga=52 Ad
2,000,000& 44 A~*90/100 7,200
AsAHES =8 =cld| NA 75,600 81,000 A5,400
402 2I2F X201 & 75,600 81,000 A5,400
01 IR SASE X (XHMITHR) 75,600 81,000 25,400
O=8 #=cldl X
6,000,000 142+ +1+90/100 75,600
LAl HFAIE ZLEAS (HEALY) 1,300,000 0 1,300,000
= 1,300,000
401 AIEHIZ SR OHYI 1,300,000 0 1,300,000
[ 1,300,000
01 AlZH| 1,277,162 0 1,277,162
OASHE AAHFAIE HESA
1,277,162,0002 100 2 1,277,162
s 1,277,162
02 Zeltl 18,304 0 18,304
OZell 1,679,248,500& *1.09% 18,304
= 18,304




SN sEED
B SEXASASA
Rl AsHE KNS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A& S CHYI 4,534 0 4,534
OASHE SAHFAIE HASSAH 20
1,679,248,500& +0.27% 4,534
= 4,534
dH2I3H(sE=251) 12,243 17,190 N4,947
Jl=23H 12,243 17,190 4,947
2AM J1=3H| 12,243 17,190 N4,947
201 fet=23y| 3,807 4,700 A893
01 AtR2te|H] 3,807 4,700 A893
Ozl 29 J|l=2|
190,350& »202 3,807
202 04| 3,636 7,690 A4,054
01 2LHoIH 3,636 7,690 24,04
Ozl 424 0]
181,800 20 3,636
203 gR=| 4,800 4,800
MU A2 LRSI 4,800 4,800
OZ&30210l0t 400,000 12& 4,800
HRas(sEe8n) 5,500,000 8,000,000 A2,500,000
WA= 5,500,000 8,000,000 22,500,000
sttE O s HES 5,500,000 8,000,000 22,500,000
(VAP TSE= 5,500,000 8,000,000 22,500,000
01 JIsdES 5,500,000 8,000,000 /2,500,000
Osdt= JHFtE ) Is 88
5,500,000,000& 5,500,000




